ITI Electronic Mechanic 2nd Year Module Module 11 SMPS, Inverter
and UPS

(1). What is the purpose of the Metal Oxide Varistor connected across the AC

supply terminals of SMPS? | SMPS & AC 3{TYfd CfHi-Iall ¥ 9 YT 3HEs
AN BT IS R 8?

(A) Regulates output | SUIa- ﬁﬁl’qﬁﬁm%{
(B) Prevent overload | NARAS P b
(C) Prevent surge voltage | Tof dlecdl Bl A

(D) Prevent low input voltage | ®H g1YC aiecsl Bl A

Correct Answer : C

(2). What is the range of specific gravity of lead acid battery, under discharged

condition? | %ﬁﬁ@ﬁ%ﬁ%%ﬁ%ﬁﬁ@%ﬁ%ﬂ%?
(A) 1.11to1.14
(B) 1.14to 1.17
(C) 1.17to 1.26
(D) 1.26to0 1.28

Correct Answer : A

(3). Which type of core is used in the SMPS transformer? | SMPS mﬁm
UHR & DR BT SUTNT {01 STl 82

(A) Air core | @Tﬁ

(B) Solid iron core | TIfeTs 3R BHR

(C) Ferrite ceramic core | WWW



(D) Laminated magnetic core | AffFce Tifes dR

Correct Answer : C

(4). Which circuit is used in SMPS for voltage regulation? | mm%m
smps H ford Tfdhe o1 SUdNT fhar ST 82

(A) Clipping | Taaftm
(B) Clamping | GG
(C) Switching | f&afeim
(D) Amplification | TFICTUH BRI

Correct Answer : C

(5). What is the name of the OFF line UPS section marked ’X’ ? | OFF <Ig- UPS
TS 'x' & ¥u H fafgd Wi &1 91H a8
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(A) Digital Controller | fefored G'I’JQ\IQ'N

(B) Battery Charger | Sl TR
(C) Load relay | IS &l
(D) Voltage regulator | dleesl WeicR




Correct Answer : B

(6). Which type of transformer is used in the DC to AC converter? | DC T AC

H-acX | [Pd UBHR & TRHIHR BT IGAIT b SIIdl 872
(A) Auto transformer | avlélm
(B) Inverter transformer | srd& gi{-llbll-lrﬁ

(C) Isolation transformer | S{E@aﬂ:{m

(D) Step down transformer | LRI T gi{-lq?\fl-lr{

Correct Answer : B

(7). Which IC is used in the Pulse Width Modulation circuit of computer SMPS? |

HICR sMps & UeH fagYy Alegax Afthe # fahd Ic T SUTRT foa SiTdT 82

(A) TL494
(B) NE 555
(C) UA741
(D) LM 2576

Correct Answer : A

(8). What is the efficiency of linear power supply? | Wﬁﬂ:ﬂﬁ Gﬂ'{ﬁﬁa&m
T g?

(A) 30% -40%
(B) 40% -50%
(C) 50% - 60%
(D) 60% - 75%

Correct Answer : A



(9). Which mode of operation, the transformer is connected? | Q'N'Eb_lﬁ? 3R
g e, AoeTganse?
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=~ ] supmy | |
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(A) Low cut off mode | Tl ¢ 31t HIS

(B) High cut off mode | BF‘%W 3B HIS

(C) Buck operation mode | dh SRR HAIS
(D) Boost operation mode | §XC SRR AIS

Correct Answer : D

(10). Which type of circuit function is used in the SMPS? | fHg ypR & gfdhe
eI BT IUUNT sMps H faraT Srar g2
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(A) Flyback converter | Ur('1|$raOb HIdCR
(B) Forward converter | RS H-Ide
(C) DCto AC converter | DC ¥ AC HaAR

(D) ACto DCconverter | AC¢ DC HIdcx

Correct Answer : D

(11). What is the function of the transistor marked ‘X’ in the buck converter
circuit? | 9% HaCR Jide | cifoier & ®U d FIfgd 'x’ dT a1 72

AC NPUT

EEEE
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(A) Clipping | faaft

(B) Clamping | aﬁfﬁw
(C) Chopping | AT
(D) Switching | faaf

Correct Answer : D

(12). Which electric component maintains constant output voltage in the power

supply section marked ‘X’? | B T faggd e faggd SMyfd We & R



3T3CYC dlec I T W &, 11 X' Fafgd g2

UNREGULATED REGULATED
NPUT X OUTPUT
ACIDC De

(A) Rheostat | R3iRere

(B) Transistor | EAT%IET

(C) Zener diode | @:RST@—S'

(D) Potentiometer | TicfearHex

Correct Answer : C

(13). Which part of the computer is connected by the 20/24 ATX connector from
the SMPS unit? | HEER BT HI- AT HFT SMPS IHTS T 20/24 ATX TG GRI

ST g3 &2
(A) Mother board | TR ds

(B) Hard disc drive | Bﬁ%ﬁ@?ﬁ’
(C) CPU cooler fan | CPU Waﬂ

(D) DVD ROM / writer | DVD 3UH / J[gex

Correct Answer : A

(14). What is the switching frequency of SMPS used in computer? | Wﬁ

Tgad smps P 3T smaf s g2
(A) 5 KHz
(B) 10 KHz



(C) 15KHz
(D) 20 KHz

Correct Answer : D

(15). What is the working principle of constant voltage transformer (CVT)? |
fARAR dieesl TRIBIR (cvT) BT B Rigid a1 82

(A) Ferroresonance | ﬁiﬁhﬁﬂ

(B) Ferro magnetism | ﬁﬁﬁﬁm

(C) Servo mechanism | gat Hobfed

(D) Electro mechanism | Wﬁﬁ\_ﬂ

Correct Answer : A

(16). What is the ambient temperature maintained to extend the life of UPS? |

UPS & PTRIBT Bl SGH b ol 91T 7T URAY & dTUHT &1 T HgT il 87
(A) 102 Cto15°C

(B) 152 Cto 252 C
(C) 259Cto 302 C
(D) 302C to 352 C

Correct Answer : B

(17). How batteries are rated? | éaél ﬁ%ﬁ\_ﬂ?ﬁé?
(A) Volt
(B) Efficiency

(C) Ampere hour



(D) Wattage hour

Correct Answer : C

(18). Which method of earth resistance measurement is experimented? | qza°r

gfeRIY 719 1 g ffd &7 T fear mar g2

@ @@ =@

T /dy/)% 77
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(A) Two point method | gq‘fg‘c’ﬁ&@

(B) Four point method | q’ﬂ?‘ﬁ%ﬁ'ﬁ?‘l@
(C) Three point method | ?}ﬂtﬂ%—C’ﬁQ‘I—é
(D) Single point method | ﬁl”’lﬁtﬂ%?ﬁﬁlg

Correct Answer : C



(19). What is the function of electronic circuit part marked ‘X’? | x’ ﬁﬂ%_d

gage - Jiche HITT BT 1Y T 82
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(A) Sensor | LReRy
(B) Comparator | PHIFICY

(C) Servo amplifier | ﬂﬁ@?ﬂ'w
(D) Buck boost transformer | WWE;HW

Correct Answer : D



(20). What is the name of servo voltage stabilizer part marked ‘X’? | ﬂﬁ?ﬂ@ﬁ

LIAGOR YN &1 A1 w7 g, o 'x Fafga fpar man g2
000

MOTCRPOWER | [

¥ i CONTROL UNIT
INPUT (Tm e OUTPUT
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X
(A) Servo motor | gal e
(B) Motor power control | nﬁawm
(C) Isolation transformer | &mﬂm
(D) Toroidal auto transformer | ‘cﬁﬁss?r &ﬁz“rgmw

Correct Answer : D

(21). Which circuit is provided in control section of SMPS to drive the power

switching transistor? | T Raf=i ;ierNce Pl IA™ %%I'Q SMPS & MTI0T TS
H DI 91 Afhe UaH forar STTar g2

(A) Input filter circuit | L1YC Irl\.-bc'di {-Iia?c
p

~C

(B) Opto isolator circuit | G@&I%H\Ié\id{ gl <

(C) Rectifier and filter circuit | %l%lbﬁw QS Irl\.-bc'di {-IEICOC

(D) Pulse width modulator circuit | tl?ﬂﬁ‘sju J-I\IJ§Q'1I('I\N gidhe

Correct Answer : D



(22). What is the function of series regulator IC 2576 pin No4? | mﬁtrm IC
2576 fOF R 4 BT HI T g7

KC PACKARE
wam R
| & OfivoFF
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| 4
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| 2-OUTPUT
) | 14w

(A) Control | m

(B) ACinput | ACRTYC

(C) Feed back | lﬁ‘s’%

(D) Frequency output | uﬁﬁ&mgz

Correct Answer : C

(23). What is the operating frequency of linear power supply? | Wﬁ?ﬂﬁ

3MYfef &1 afeara snaf T g?
(A) 20 Hzto 25 Hz | 20 Hz ¥ 25 Hz
(B) 50 Hzto 60 Hz | 50 Hz ¥ 60 Hz
(C) 5KHzto 10 KHz | 5 KHz ¥ 10 KHz

(D) 15 KHzto 1 MHz | 15 KHz ¥ 1 MHz

Correct Answer : B



(24). What is the full form of CVT? | CVT &1 d HIH a1 §?
(A) Complex Virtual Technology

(B) Constant Voltage Transformer

(C) Composite Video Transmission

(D) Complementary Voltage Terminal

Correct Answer : B

(25). What is the type of converter? | HIACR BT UPR W%?
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(A) Fly back converter | m%m

(B) DC to AC converter | DC G AC H-1dcx

(C) ACto DC converter | ACgDC Hac

(D) Forward type converter | HRAS clgy HIdCR

Correct Answer : A

(26). Which power device is used for switching purpose in computer SMPS? |

HeR smps T Rafin 3= & o fory urer farsy &1 I fear Srar g?




(A) SCR
(B) IGBT
(C) MOSFET

(D) Transistor | ET%IET

Correct Answer : C

(27). Which type of operation is performed by the circuit? | fPT UBR &1
TR Fidhe gRI fhar Srar 82

AC NPUT

(A) Linear regulation | WW

(B) Boost operation | W\?ﬁw

(C) Fly wheel operation | tﬁﬂg%ﬁﬁ SR
(D) Buck boost operation | b §¥C STIRA

Correct Answer : C

(28). What is the function of opto-coupler in SMPS circuit? | SMPS gfbe o 31@
HUTR BT BT T 8?

(A) Controls the pulse width | Waﬁ@éﬁﬁaﬁﬂw%
(B) Isolate the output section | 33CYcC \’rlﬂ‘l-ﬂﬂﬁ WW%




(C) Generates switching pulses | TR B Waﬁm%
(D) Stops RF interference signals | RF mm@m%

Correct Answer : B

(29). What is the function of preset R5 in the circuit? | gfdhe # Uike Rs ST HRA
T g?

IC 1 LM37 Im

100uF E'_I l_"_lm
40V

RECTIFIED DC
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(A) Prevents power disturbances | ﬁﬁ?ﬁﬁ”\iﬂé\l CARICS| %

(B) Provides correct charging current for battery | éail %ﬁﬂﬂg}f all\;ri.ll BT
UM i §

(C) Provides correct charging voltage for battery | g %mwaﬁﬁh@ﬁ
PHEERGIN

(D) Reduces the battery voltage | éail dice ] & BHH Hd] %

Correct Answer : C

(30). Which IC is used in the battery charging circuit of ON-Line UPS? | ON-<IIg-

UPS & Sicl TTfoiT Tfdbe H fhd 1c &1 SUamT fhar Sirar g2

(A) LM 317



(B) TL494
(C) NE 555
(D) UA 741

Correct Answer : A

(31). Which is equal to the ratio of the real power to the apparent power? | DI

Wy fad § aRafae Wfad & U & SRIeR 87
(A) Load factor | @IS Thae

(B) Power factor | UTaR thdeX

(C) Utility factor | gfeferd! haex

(D) Optimize factor | TR e

Correct Answer : B

(32). What is the frequency range of switching circuit in SMPS? | SMPS H fafi

fthe B STy ¥l T ]2
(A) 10 Hzto 15 KHz

(B) 15 KHzto 1 MHz

(C) 1 MHzto 3 MHz

(D) 3 MHz to 30 MHz

Correct Answer : B



(33). Which type of voltage stabilizer is in the block diagram? | T PR &1
diecs RIATSOR sqldh 3Md H g7
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(A) Servo type | ﬂﬁ?lgq

(B) Manual type | ﬁTQ&IFTE'IS'q
(C) Constant voltage type | Hic dlecol clgu

(D) Automatic control type | 3cHicH d)Ug\Iﬂ GEE

Correct Answer : D

(34). What is the name of the instrument used for electrical insulation

measurements? | fAGdd SR AU & T SUANT fobT ST et SUBRUT bl

AIRTE?

(A) Megger | HTR

(B) Ammeter | TRTEY

(C) Voltmeter | dTecHICY

(D) Energy meter | Tuil HIeR

Correct Answer : A



(35). Which technique is achieved by switching of the choppers in battery

charging circuit? | St =i Afthe H Tu™ oY e 31Tt B i It
GEICA RN RSN

(A) Constant voltage | HRCC Aoyl

(B) Constant current | HREC PC

(C) Constant frequency | P e Wierd!
(D) Constant power | PHiecc U

Correct Answer : B

(36). Which transformer has common winding for both primary and secondary? |

forg TR & Trufiie IR ATeafiies S & fore i arEfe 82
(A) Auto transformer | *q G{C{m

(B) Step up transformer | PRI RG gi{-lq’)ll-k

(C) Step down transformer | é’@gmm

(D) Tapped primary transformer | %qmumgmuo‘lﬁ?

Correct Answer : A

(37). What is the name of the static device that converts fixed DC input voltage
into variable DC output? | T SUHRUI &1 ATH &1 § Sl H13d DC STYC
dieesl & URGd-1 D 3T3eye H uRafdd el g2

(A) DC chopper | DC TR

(B) Buck converter | &b HIdeR
(C) Boost converter | WW’C‘T
(D) AClink chopper | AC foie AR

Correct Answer : A



(38). What is the name of the forward converter type SMPS? | BRAS dH-de
TT3Y SMPS T ATH &1 8?

(A) Boost converter | WW

(B) Flyback converter | TReh Hdcy
(C) Isolation converter | WWWZYT

(D) DCto DC buck converter | DC g DC b HIac

Correct Answer : D

(39). What is the full form of UPS? | UPS T d BiH &1 82
(A) Unlimited Power Supply

(B) Uninterrupted Power Supply

(C) Uprooted Power Supply

(D) Utility Power Supply

Correct Answer : B

(40). Which section in SMPS adjust the duty cycle of switching to keep the output
voltage constant? | SMPS H CAERS RGEC 3{13cyc dleesl B fRR TG & ol
fRafiT & St I o) U Bl 82

(A) Power section | UTaR Ja=H

(B) Output section | G{WW

(C) Protection circuit | UieaRH Ifdbe

(D) Pulse width modulator controller | Wﬁts’qurr%m

Correct Answer : D




(41). What is the resultant output voltage of the circuit? | Gfche o1 ufomt

3{T3CYC dlecol HT §?
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(A) Inverted output | 3cICT 3T3CYC
(B) Regulated output | ﬁ'ﬁﬂ'&lﬁw
(C) Adjustable output | THANY 3{13cYc
(D) Unregulated output | AT TG

Correct Answer : B

GHD

(42). What is the type of UPS? | JUITH & UHR &1 §?
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(A) ON line UPS | T3 UPS TR
(B) OFF line UPS | G T3 UPS
(C) Industrial type UPS | &ﬁ%ﬂmw UPS

(D) Line interactive UPS | @IS ScUided UPS

Correct Answer : D

(43). Which test is conducted through the experiment? | TN & HIEH Y HI T
TRI&0T SrAford foar T g2

(A) Measure soil ratio | J&T 3{-UTd &I AU

(B) Measure soil resistivity | Tg1 &1 UfcRIeddl &1 AU
(C) Measure earth vibration | G2l &0 &1 AU

(D) Measure earth resistance | gl UfcR1Y &1 AU

Correct Answer : D



(44). What type of transformer is used in automatic voltage stabilizer? | Wferd

dleeol WIAZoR | ¥ UHR & CRIBIHR BT IYFNT [T SIrdl g2
(A) Auto transformer | &ﬁ’am

(B) Step up transformer | i%qr{qgmuﬂﬁ?

(C) Isolation transformer | &ns@—ammw‘lﬁv

(D) Step down transformer | @qmmm‘lﬁ?

Correct Answer : A

(45). Which type of battery mounting method is used for battery installation? |

S RITYT & T {59 YR T dest Arafe fafer o1 Iua forar Sar g2

(A) Tier mounting | fear A3

(B) Shelf mounting | Yo ARSI

(C) Cabinet mounting | W’C'IIU'IB'%T
(D) Table mounting | cgd ArsfeT

Correct Answer : B
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(46). Which mode of operation the transformer is connected? | Q'N'Cb_lﬁ?

TRA & [ Are, H JST g3 62
epsT
SWWTCH -
./‘ l 2 12 l "
+ J -
G_ 20VAC | |
SUPFLY ! | %
I : .

(A) Buck operation | b SHTA-H

(B) Boost operation | W\?ﬁw

(C) Low cut off mode | Al de B Als
(D) High cut off mode | B'IT&CW 3% Al

Correct Answer : A

(47). What is the working voltage range of input AC supply specified for SMPS? |

smps & forg fAfEE 57qe ac smgfd ) wrdziia diees S w82

(A) 110 VACto 150 VAC | 110 VAC I 150 VAC
(B) 170 VAC to 240 VAC | 170 VAC I 240 VAC
(C) 90 VACto 270 VAC | 90 VAC I 270 VAC

(D) 220 VACto 440 VAC | 220 VAC 3 440 VAC

Correct Answer : C



(48). What is the output pin number of switching regulator IC LM 25767 | faafim
JACR IC LM 2576 HT T3y U AaR 1 82

(A) Pin No.2

(B) Pin No.3
(C) Pin No.4
(D) Pin No.5

Correct Answer : A

(49). What is the name of the electronic circuit? | WWWWW%?

IC 1 LMB1T
GG
| 1m
C1 -+
1m|'IF Z'_l ::m
5| iy 0.22yF 47060
RECTIFIED D
VILTAGE N R5 :
x 1K
POT

(A) Amplifier | TFRIATHIIR
(B) Battery charger | Sl Tk
(C) Multiplexer | Ao TR

(D) Full adder | BaT 3SR

Correct Answer : B



(50). What is the continuous speed adjustment of output voltage correction in
servo voltage stabilizers? | Tdl diccs] TS H HTICYC dlecs YUR &1
fRR 7T GHT oI T 82

(A) 5to 10V per second

(B) 10to 15V per second
(C) 15 to 20V per second
(D) 20 to 40V per second

Correct Answer : D



